VKLP

Si(x,,x,) = 2x, t x, 7 max
So(x,,x,) = x, T 5x, 7 max
So(x,,x,) = x;, 7 3x, 77 max
za omezeni

x, Tx,=3

03x132,03x =2

x1 X2 f1 f2 f3 skalarizace
5 7 -1

L P
3 3
2 2
1 2
vl V2 v3 suma

0.5 0.2 0.3 1




Minimaxové programovani
= + —>
Si(x,,x,) T 2x, 7 x, max

fZ(xl’xz) - X, +5X2 — max

w ™ max

za omezeni

TR—
f3(xl,x2) - X, 3X2 — max 2X1 X w
+ >
za omezeni Xy 5x2 w
x1+x233 x, T3x, = w
+ <3
< < < < X X
0=x,=22,02x,=2 1 2
0= X, =2.0
x1 X2 w f1 f2 f3
2 0 4 2 2
2 2 2 2 2
L P







Cilové programovani

d,*d,*d,
Si(x;,x,) = 2x;, T x, 7 max ql=3 za omezeni
fz(xl,xz):xl"'sz_)maX g2=14 x1+x233
fs(xl’xz):xl_?’xz_)max OSX1S2,O
3=5
za omezeni q ~d, < 2x,
xl"‘szS _d23x1+5
0=x,2,0=x,=2 ~d,<x, 73
d, Z0,h 2
x1 X2 dil hl dz2 h2 d3 h3 f1
1.222| 0.556 0 0 0 0| 5.444 0 3
2 2 L
1.778
-di f-q
0 0
0 0
-5.444| -5.444




d,*d,Td, Y h tTh,*h, 7 min
za omezeni

x, Tx,s3
05x132,03x232

—d, S2x,tx,735h
~d,Sx, T5x, 4= h,

~d,
d =0,h=0,i=123

IA

x1_3x2_53h3

f2 f3 suma odch
4 -0.444i
P
3
hi
0
0
0




Cilové programovani _
g d,td,*td,*h *h,*th, > min

filx,,x,) = 2x, T x, 7 max ql = za omezeni

Sfy(x;,x,) = x, T 5x, ™ max 42 = x,*x,<3

Sfi(x,,x,) = x, ~ 3x, 77 max . 05x 2,0%5x,<2
za omezeni L —d, < 2x,  x, -3< h,
x, T x,<3 —d,Sx, t5x, 4= h,
0Sx,52,05x,52 ~d,<x,~3x, 5%nh,

d.=20,h,=0,i=123

x1I  |x2 |dl__ |d2  Jd3 |n 2 3
1.222| 0.556 0 o| 5.444 3 4] -0.444
2 2 L P
1.778 3
di [rq |di
0 0 0
0 0 0
5.444] -5.444] 5.444




1+d3+h1+h2+h3_>min
zeni

<3
S2,03x232
2)61"'962_35}11
x1+5x2_4§h2
x1_3x2_53h3

h,=0,i=123

‘suma odch \




